ba) 2.6.12,70,32 0
VAAVAA VA
4 G % D

2.(2) 2(%) ("M
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6.2 - Arithmetic Sequences

A sequence where there is a common difference, d, between consecutive
terms. The same value is added or subtracted to a term to generate the next
term. 42 o2 2

m —
eg.3,57,9 11, ... 5-3=2

d
@) 5,1,-3 -7, .. d
0,5, 10, 15,20,..  d

A +3

+2 x3

Notice the pattern: I'/\Um'/—\o’\f/\é
S o &
1,1+1(3),1+2(3),1+3(3), 1+4(3) a=1 d=3

N

__l/\

]
P )

a, a+1d, a+2d, a+3d, a+4d

\

always 1 less than term #

Arithmetic Sequence Formula

t.=a+(n-1)d

where a is the first term and d is the common difference




Ex. 1 Determine t, for each.

M

a) 7,3 1 -5, .
o= JU\:QWL(V\-( ol
oL =4 :7+(V\—KZLD
=] —-4Ynt4H
En=1-Un

Ex. 2 Determine the # of terms-in.each sequence.
a) 2,5,8, ..., 1525 b) 1,-1,-3,...,-199

o=2

\V
0&,7—5 tv-\:{gg

Y=ot (n-0d
\ %5i3+ (W\—Q}(@

153 = ()

% b,
5y = n-!
54 =N

This means find the general formula which
works to find any term in the sequence.

o= -5

o=

b) -5,-3,-1, 1, .

JCr\ O\Jf(“ at
= SJr(hw\WZ\)
= -54an-2

o= | JC{\‘ a4 (n- )db
EL:—‘;—ZIW 194 = [ +(n-D(-D
T 200= (n-DEY)
9 _2
10 = n-|
0] = n

Ex. 3 Insert two numbers between 17 and 59, so that the four numbers

form an arithmetic sequence.

7 31 45 aq
NN NG 3

G- 17
=YL

—_—

OL Ok OL = /q
Ay ozl
tn=59 oa= Il



4. Determine, a, d, and t, for each arithmetic sequence. S \MMM
a) ,=13 , ;=39
-G (n-1)dk
% —= a‘l’(n"bd /z.ﬂ’G\—J[(ﬂ D
la‘n: ot (a-Dd ?:0‘1(”*2é b a=T+n-D(2)
d=at+ b 2
= ot 3l =120
ER O s a2 © {Cn %5:\%
®-0 26= 3ol -
\> >
2 = Jd_
SU\(L') CLT—Z ﬂq‘ﬁ)@
B =o+3(2)
-6 =q

1 =%p. 385 #3abfh, 4bc, 6,@ 9a

b) tiw=-67, t3=-298 JC ,]10(,13,15, 20121
"y s
d=-T



p. 385 #3abfh, 4hc, 6,@ 9ac,
10ac, 11ac, 13, 15, 20, 21

@@3@5;%35
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